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Delhi Public School, Gandhinagar
‘ P.T-1 Revision (2024-25)

Class: 111 T : \[ Date:
, Mathematics
\ Time: L /[ M. Marks:
Name: Sec: Roll No.:
Chapter-1 Numbers
Q-lI Choose the correct option:
1. The successor of 8789 is
a) 8799 b) 8788 c) 8790 d) 8989
2. The place value of 7 in 3753 is
a) 7 thousands b)7 hundreds c) 7 tens d) 7 ones
3. The standard form of 5 x 1000 + 6 x 100 + 2 x 1 is:
a) 5621 b) 5620 c) 5602 d) 5612
Q-ll Solve the following:

1.  Write in expanded form:
4835 =

2. Write in words:

7912 =

3. Write the numbers in ascending order:
5675, 2576, 5265 , 2657

4. Write the expanded form of 7683.



Q-

=

Do as directed:

Find the number using the hints:

| am greater than 260 but less

than 280. When you add my first
and third digits you

will get 9. Which number am 1?

Ans:

If the predecessor of the unknown number is 8099, what is the number?

Ans:

Suresh’s score in a quiz is equal to the sum of the place value of 4 in the
number six thousand 4 hundred and fourteen. Find
out Suresh’s score.

Ans:

This is a digital clock. Right now, it shows 03:28.

» Using these digits 0,3,2,8 form the greatest
four digit number (without repeating the
digits)




Q-1

Qll

Mahat wrote a number on the blackboard as shown below:

If itis formed from three different digits, then which of the following digit
could be placed in the gap to make it the smallest number out of the given

options:

a0 b)3 ¢l d)?2

Chapter-2 Addition

Choose the correct option:

238 more than 4750 is .
a) 4350 b) 4788 c) 4988 d) 6758

Which of the following addition problems will give a 4- digit sum?
a) 629 +109 b) 750 + 827  ¢) 809 + 108 d) 249 + 338

When a number is added by 1, we get as the sum.

a) predecessor b) successor )0 d 1

Solve the following:

Add the following.

7 5 6 2 3 1 8 4




2. Find the sum:
2 thousands 1hundred 5 tens 4 ones and 3thousands 3hundreds
9 tens 5 ones

3. In a train, there were 1246 men, 1023 women. How many people were there
in the train altogether?

4. Fill in the blanks:
a) 1567 + =1567
b) 2014 + =7870 + 2014

Q-1 Do as directed:
1. Identify the numbers:

al |-

|
D5E20

3 10
14 8 23

b




2. Study the pattern and find the number:

‘What Number will replace Question mark ?
6 3 ??
22 20 15
7 9 12 3 7 3

3. a) When we add the smallest 4- digit number to the greatest 3- digit number,
which digit is in the hundreds place of the sum obtained?

b) What number should be added to 999 to give the smallest four digit
number?

4. Look at the number sentence below:
630 + =755

5. What is eleven hundreds and fifteen tens?



Q-1

Q-II

Delhi Public School, Gandhinagar
Half-Yearly Revision (2024-25)

Time: 1\ /[ M. Marks:
Name: Sec: Roll No.:
Chapter : 1 Numbers
Choose the correct option:
1. Tick the numbers in which 3 is at hundreds place
(a) 3487 (b) 1340 (c) 2354 (d) 8263
2. Standard form of Eight thousand fifty is .
(a) 8000 (b) 8080 (c) 8008 (d) 8050
3. Predecessor of 8000 is :
(a) 8001 (b) 8010 (c) 7999 (d) 8002
Solve the following:
1. Find the greatest even number formed by the digits 6, 7, 2, 8
2. Round off the number to the nearest 100’s place:
537
3. Write the number in words:
9703 -
4. Choose the odd numbers from the given numbers:

3899 , 4568 , 3505, 9722, 8480, 1231, 6107
Odd numbers:




Q-1

2.

Do as directed :

Identify the digit in tens place while adding smallest 3 digit number and
largest 3 digit number.

Ans:

Identify the number.

| am a 3-digit number.
Place value and Face value is 7 .
My first two digits form the largest 2-digit number.

Find the missing number in the given series:

13 11 9




Q-l

Compare and put the sign <, > or =
4569 4579

Sneha has a collection of 3201 stickers. What will be the correct number of
the successor of the given collection of stickers?

Chapter-2 Addition

Choose the correct option:

0+ = 3134
a)0 b) 3133 ¢) 1 d) 3134

4230 + 2045 = + 4230
a) 1 b) 4230 c) 2045 d) 0

If 1256 + 2456 is 3712 ; 2456 + 1256 is

a) 1256 b) 2456 c) 3712 d)1

Solve the following:

Add:
ThHTO
5 12 4
1 301

+ 1 45 2

Arrange the numbers in columns and add:
4563 + 3420



3. Find the sum:
2 thousands 1 hundred 7 tens 6 ones and 4thousands 2hundred 3 tens 2 ones

4. 4354 women and 7528 men went to cricket stadium to see the IPL match.
How many people were there in total in the stadium?

Q-111 Do as directed:

1.  What number should be added to 9999 to give the smallest five-digit
number?

2. Look at the number sentence given below and complete it.
67 + =121

3. The number shown in figure gives number of passengers in each

compartment. The total number of passengers in the train is

10



4. Which number should be written in the box below to make the sentence
correct?

20> +10
5.  Fill the missing digits:

Chapter: 3 Subtraction

Q-l Choose the correct option:

Fill the missing number :

[7500 - ? = 7000]

(a) 7000 (b) 500 (c) 7050 (d) 7500

2. What you will get when you subtract the smallest 4-digit number from the
greatest 4-digit number ?
(a) 9999 (b) 1000 (c) 8999 (d) 9899

3. If 0is subtracted from 5620 the difference will be
(@) 0 (b) 6052 (c) 5260 (d) 5620

Q-1 Solve the following:
1. Subtract:
Th HTO
4 8 36
-1 6 3 4
2.

Sapna purchased books and clothes for ¥ 2754. She gave ¥ 3000 to the

shopkeeper. How much money will she get back?

11



3. Find 1682 +2063 -1888

4. Find the difference:
3789 - 1365

QI Do as directed:

1. The number of books read by five children in the months of
June and July are shown below:

Manu — 1, Rashi — 5, Rina - 6, Arun - 3, Jamal — 4
Who read 1 book more than Jamal but less than Rina?

2. A number machine takes any number into it, adds 20 and then subtracts 10,
and adds 8. If the number 13 is put into the machine, what number comes

out? N
|

C
T

>

A‘-‘;—O;‘Imttmﬂ ) — ()l"l\

3. One hundred less than 596 is
12



Q-1

Q-1

4. What number should be subtracted from 3588 to get 2589?

Fill in the empty boxes:

Th | H T O

Chapter :4 Multiplication
Choose the correct option:
Choose the correct number _ x 8 =64

(@7 (b)g  (c)9 (d)6

If we multiply 0 by any number, what product do we get?
@ao (b) 1 (c) same (d) none of these

Multiply 322x10
(@) 3200  (b) 3220 (c) 322 (d) 225

Solve the following :

Complete the pattern :

7,14 ,21,28,
Multiply:
4 2 3
X 2

13



3. A vegetable seller earns Rs 575 daily. How much money will he earn in 16
days?

4. Fill in the missing digits:
Th | H T @)
1 4 2 2
X )

Do as directed:

Q-1
1. Ravi wants to get the answer to 4times of 8; but does not know his 8
times table. What could he do to get the answer to 4 times of 8? Find the

answer.

2. The same number has to be put in BOTH the boxes below. What is the

number?
Fill in the blank
9 |x |4 |=]_ |x|_

14



3.

I

Renu drinks 6 glasses of water every day. How many glasses will she drink
in 4 days?

slsfsfs[s(s

Dolly is celebrating her puppy’s birthday Milo. Match the objects in List I
with List II to help Dolly arrange material for Milo’s birthday party.

1. Otimes 4

BsJs]sdn]nlsdedsdodsdn]s;

sdvdududuiudulndudnudn,

Medvdndviujuduinduguiole,

2. 18X2

3. 6+6+6+6+6+6

4. 3time 12

Consider the statements given below and choose the correct option.

Statement A: Multiplication is repeated addition.

Statement B: The result is called the product of multiplication.

A) Statement A is correct B is wrong.
B) Statement B is correct a is wrong.
C}) Both the statements are correct.

D) Both the statements are wrong

15



Q-I

Q-1

Chapter 7 Geometry

Choose the correct option:
A square has ___ sides.

a2 b)3 c)4 d)5

A cube has ___ edges.

a)10 b)11 c¢)12 d)13

Aray has ___ endpoint.
a) one b)two c)three d) four

Solve the following:
Write the name of the following shapes:

> A
"I

Write the name of the shape, its edges, corners:

Edges =

Corners=

Write any two examples of cone shape:
a)___

b)

Draw the shape of a cuboid.

16

Shape =



Q-1 Do as Directed:

Four objects are given below: Which two of them are like each other in

L shape
2 This is a shape of a square. It has 4 corners. Name one another shape which has
exactly four corners. Draw the shape.
3 Find the number of triangles in the given picture.
shutterstock com - 725713906
4.

Which shape has fewer number of sides?

b) T
c)u
dyVv

17



Q-

Q-1

5. Which of the following is different from other three?

A)

B)

C)

D)

L C G

Chapter 10 Time

Choose the correct option:

How many days are there in a leap year?
a) 366 b) 7 c) 365 d) 364

1 month = or days.
a)300r31 b)lor2 c)dorb d)7or8

How many minutes are there in 1 hour?
a) 60 b) 20 c) 30 d) 40

Solve the following:

Ram and Geeta have been friends for 2 years. How many months make 2
Years?

18



Draw the clock when the short hand is at 5 and long hand is at 12 . Write the

time.
3 Shobha and Rani has been friend for 6 months. For how long they are friends in weeks
" in 6 months? (1 month = 4 weeks )
4 Write the time in two ways:
Q-1 Do as directed:
1 Answer the following questions on the basis of the given calendar:

19



(1)

(2)

(3)

(4)

(5)

CALENDAR

February-2011
SUN |MON | TUE WED | THU FRI SAT
1 2 3 4 5
6 7 8 9 10 11 12
13 14 15 16 17 18 19
20 21 22 23 24 25 26
27 28

What day of the week is February 28?

What day of the week is February 207

What date is the second Saturday in February?

What date is the third Monday in February?

What day of the week is February 147

On your timeline, mark any four events which you feel has been important in
life. Use colours and pictures.

&

1%t event

v

2" event 3" event 4* event

If 291" June is a Saturday, what day will 1% July be?

\nnm

Durga’s birthday was on November 20. Madhavi’s birthday is 6 days after that.

7T 8 910 M2
14 15 16 17 18 19 20
NRDUBBY

When is Madhavi’s birthday?

What time does the clock show?

20

your
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Delhi Public School, Gandhinagar
Half Yearly Exam Mock Test Paper (2024-25)

Class:IIT

]/ Mathematics T Date:

Time: 2 hours

1\ l M. Marks: 50

Name:

Sec: Roll No.:

General Instructions:

This Paper consists of four sections . Section A, Section B, Section C and Section D.

Section A

Section A consists of 13 questions of 1 mark each

The numbers that are added are called
a) sum b) product c)addends d) difference

The number by which the number is multiplied is called
a) addends b) multiplicand c) difference d) multiplier

The number from which another number is subtracted is called
a) difference b) minuend c) subtrahend d) sum

The answer of subtraction is called
a) sum b) subtrahend c¢) minuend d) difference

12 x 100 =

a) 12 b) 120 ¢) 1200 d) 12000

All the four sides of the

are equal in length.

a) rectangle b) square c) circle d) triangle
2,5,8,11,14,17,

a) 18 b) 20 c) 21 d) 22

How many months have their names starting with the letter A?

a)lb)2c) 3d 4

When the sun sets at 7:00___, it starts looking dark.
a) am. b) p.m. ¢) midnight d) noon

The successor of 8990 is

a) 8991 b) 8989 c) 8992 d) 8988
One hundred less than 7109 is
a) 7000 b) 7100 c) 7009 d) 7108

The same number has to be put in BOTH the boxes below. What is the number?

9

X

1

X

a2 b)3c)4 d)5

22




13, If 15" April is a Monday, what day will 18™ April be? 1
a) Tuesday b) Wednesday c) Thursday d) Friday

Section B
Section B consists of 9 questions of 2 marks each

14. Write the number name and its expanded form: 2
7086 =
Number name =
Expanded form =

15, Add: 2
ThHTO

4 5 7 8
+36 5 2

16. Multiply: 2
ThHTO
1 375
X 6

17. Rohit has a collection of 2999 stamps. What will be the correct number number of the successor 2
of the given collection of stamps?

18. Find in the missing digits and get the correct difference: 2
Th H T 0]
7 L 5 1
4 3 . 6
3 2

19. On multiplying 12 and 5, we get the same number as we get on multiplying which two other 2
numbers?

20. How many triangles can be seen in this picture: 2

23
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21. Complete the pattern:

QDL

22. Which hand moves slowest in the clock?

Section C
Section C consists of 5 questions of 3 marks each.

23. Shelly went to buy 568 cookies. She got only 288 cookies in the bakery. How many more
cookies she has to buy?

24. i) State True /False:
a) A line can be extended in both directions.

b) A cone has a flat surface and a circular surface.

(i) Identify the shape:

24



25. Look at the pair of shapes. Which shows a pair of rectangle?
A)

O B &

C)
O
D)
- [

(i) Complete the pattern:
243,247,252 , 257 , 262, :

iii) Draw the line of symmetry:

26. Find the sum of 4 digits in the largest 4-digit number.

25



27.

28.

=
(@]
)|
o
@]

Each of these packs have exactly 5 buttons in it. How many buttons are there in all?

e
e
@

®

Section D
Section D consists of 1 question of 4 marks each.
India was declared independent from British colonialism and the control was handed over to the
leaders of our country on 15" August 1947.0n 15" August we celebrate Independence Day
every year. This year we will be celebrating the 76" Independence Day. It will fall on Tuesday
this year. In the month of August, there are 31 days.
Answer the following questions:
a) On which day, Independence Day is celebrated every year?
b) How many days are there in the month of August?
¢) In which year we got independence from British Colonialism?
d) In which year we got Independence?

26



Delhi Public School, Gandhinagar
Periodic Test-11 Revision (2024-25)

| Time: 1hour 1\ l M. Marks:
Name: Sec: Roll No.:
CHAPTER-5 DIVISION
SECTION A
1. Ondividing 33 by 3, the quotient will be
a) 11 b) 12 c) 10 d)9
2. 600+6=
a) 10 b) 100 c)0 d)5
3. In4d5+5=9, is the divisor.
a)7 b) 10 c)8 d)5
4.  There are 12 apples in 4 bowls. How many apples in each bow!?
a)3 b) 4 c)5 d) 6
SECTION B
5. Divide: a)824+8 b) 94 + 3

27




6. What will be the quotient when 245 is divided by 67

Option A Option B Option C Option D
4 L s i 5

7. 6 bags of equal weight contain 72 kg rice in all. How much rice is there in one

bag?
Option A Option B Option C OptionD
i 16 1 §

8.. 466+ 100

Q=_ R=___

SECTION C

9.  Match the following.

1) 560 + 560 a)Q=3,R=61

2) 361 + 100 b)Q=1,R=0

3)780+1 c)Q=42 R=5

4) 425 + 10 d)Q=780,R=0

10. One box can hold 12 juice cans. How many boxes would be needed to pack 612
juice cans?

SECTION D

11.
Tom had 65 apples. He divides all apples evenly among 9 friends.

a) How many apples did Tom give to each of his friends?
b) How many apples were left?

28



CHAPTER - 6 FRACTIONS

SECTION A
In the fraction g 9is the
a) numerator  b) denominator c) whole d) none of these
Quiarter is also written as
6 1 4 3
What is - of 15?
a)5 b) 3 c)4 d) 6
Half of 50 is :
a)5 b) 10 c) 25 d) 20
SECTION B

Write the fraction for the shaded parts.

What fraction of the children in the following group are girls?

ARG
TF +«

(Option A Option B Option ( Option D

)3 15 3 i




10.

11.

How many hours are in % of a day?
a) 6 hours b) 10 hours ¢) 12 hours ¢) 18 hours
SECTION C

Choose the correct fractions.

The number below the fraction bar is called
a) numerator  b) denominator c) whole d) none of these

An apple is cut into 4 equal parts. Each equal parts of the apple is

a) One-fourth  b) One-third c) One-fifth d) None of these
SECTION D

Which one among the following is correct representation of shaded part to whole?

One-fourth Three-eighth Two-fourth

a) @ b) % C)

d) All the these

30
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Time:

CHAPTER -5 DIVISION

SECTION A
1. Division is a repeated .
a) addition b) product c) subtraction d) quotient
2. If 35+ 35, we get as a quotient.
a)l b) 5 c) 35 d) 0
3. When we divide the number by 1, the quotient is always
a)l b) 0 c¢) number itself d) 100
4, 1f40+8=5then8x__ =40
a)4 b) 5 c) 6 d)8
SECTION B

5. Find the quotient and the remainder of the given number.
1008 +9

6. State true or false
a) 361 +100,Q=36,R=0
b) 452 +10,Q =45, R =2

7. There are 15 butterflies in total in a garden. On one flower, there are 3 butterflies
each. How many flowers are there in the garden?

31



10.

SECTION C

A man puts 5248 pencils in 8 boxes. How many are there in each box?

If the dividend=18, Divisor=6, Quotient=3, then division fact is .
a)18+3=6 b)6+3=18 c)18+6=3 d)6+18=3

SECTION D

Mehul brought the bananas from the market. Write the multiplication and division
facts for the following.

':__'f&':__'ﬁ ':__'./}':__'ﬁ c._‘&c_‘jx"} c_f)c »

i

e

L‘.'.{bc_‘./} r,_‘.'.{b':_‘./} t_‘f}c_‘i& c_‘ﬁc_‘fj

ADnS.
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CHAPTER- 6 FRACTIONS

SECTION A
One-third is also written as :
6 3 4 1
The upper part of fraction is called
a) Numerator b) Denominator c) Bar d) Fraction

Which shaded region represents the smallest fraction?

a) option A b) option B c) option C d) option D
How many more parts must be shaded so that ;—g of the figure gets shaded with blue
colour?

a) 4 b) 5 c) 6 d) 10

SECTION B

State true or false.

a. Fraction is expressed for unequal parts of a whole.

b. The line used in a fraction is called fraction bar.

c. There are 5 chairs, 2 tables and 1 cupboard. The fraction for the table is two-
eighths.

d. The fraction % means that the total number of equal parts is 5.

Find: 61 of 72

33



10.

11.

Do you think 25 pens can be divided into 8 equal groups. (Yes/No)
How many pens will be in each group?
Write the fraction of pens in each group.
How many pens are left?
SECTIONC

Fraction means:

a) Unequal parts of an object or group  b) Equal parts of an object or group
c) One-half of a group d) None of these

Tick the correct fraction for the given picture.

Y
i

ALY
3 3 4 1
Which picture is divided into half by the dotted line?
Option A Option B Option D

! ﬁ\\\ .f//—' { /J'/;(//—)
‘HP(eioll IV k)

E __,I'I‘ ) : _E:xiﬁ.iQTJZ}IFJ;’ i

A. B. c. D-

SECTION D

Sanjay, Ravi and Shikha bought an apple they wanted to share the apple equally; they
cut the apple in three equal parts. Which of the following statements are true?

a) Theyall get% of the apple

b) Ravi gets a smaller part than Shikha
c) Sanjay gets a bigger part than Ravi
d) Ravi gets one-fourth of the apple

34



Chapter-8 Patterns and Symmetry

SECTION A
A2,B4,C6,D8,
a) E 18 b) E 10 c)E20 dyE21
Complete the pattern: 10, 20, 30, : :
a) 10, 20 b) 10, 30 c) 40, 50 d) 20, 40

Choose the next shape in the given pattern:

= A\ {} = N\
a):> b)ﬁ c) d)A

Which among the following lettres does not have line of symmetry?

a) N b) A c) D d) E

SECTION B

Draw the line of symmetry in the given figure:

A\

How many lines of symmetry does the following figures have?

Ans;

Observe the pattern and complete the series:
700, 600, 500, 400 :

SECTIONC

Look at the pictures given below. Which of the following pictures divided into similar
half ?

35



C D
a) B b) A c)D d) Aand D

Which figure shows a line of symmetry that is drawn correctly?

a) B b) 1 t c) I d) aand c both

Chapter — 9 Measurement
SECTION A

A measuring tape is used to measure

a) The weight of your school bag.
b) The number of pencils in your bag.
c) capacity of milk in a bottle

d) length of a saree

Which is the most appropriate tool to measure the length of a curtain?

BO
§:-s
A) A B) U D) =

Look at the picture shown below. You could use these to find.

36



a) The height of your water bottle.
b) The weight of your water bottle.
c) The size of your water bottle cap.

SECTION B

Convert 180 cm into m and cm.

Convert 8 kg 962 g into g.

Subtract;
496 ml - 310 ml

37



7. Add:
625+ 363 g

8. Sid purchased 325 cm rope and Nancy purchased 215 cm rope. What is the total
length of ropes both of them purchased?

SECTIONC

9. How many glasses of juice can you get from this pack if each glass holds 300 ml?
==

|
1] Leres g E

A _:‘_'_..._- .-----'.-

10. How many centimeters long is this line?

38



2 3 < 5
£m
Answers Oﬁtinns
Option A Option B Option C Option D
2,07 2.7 2.52 2.3

11. Here is a measuring tape. Which of the following can you measure with it.

\mn%
o 1,
- bl b
cm - Py
T T . =

12. Mita has kept her doll next to a tower of blocks. If each block is 10 cm high, about
is Mita's doll?

how tall

Answer Options
Option A Option B Option C Option D
The weiaht The The time at
of gur number of which you The length
Y pencils in leave  for of your foot
school bag
your box school

a) 20cm

b) 30 cm

39

c)40cm

d) 50 cm




13.  What is Karim doing in the picture?

SECTION D

Option A

Option B

Option C

Option D

Checking how
tall he is.

Checking how
heavy he is.

Checking how
much money he
has.

Checking how
long he can stand
still.

40




Delhi Public School, Gandhinagar
Annual Exam Mock Test Paper (2024-25)
Time: 2 hours 1\ J\ M. Marks: 50
Name: Sec: Roll No.:
SECTION A 13x1=13

Section A consists of 13 questions of 1 mark each.

1. Ondividing 49 by 7, the quotient will be
a) 11 b) 8 c) 10 d)7

2 There were many adventure activities. When a group of 15 students activity,
5 said- scramble net
5 said- wall climbing

3 said - rope bridge
2 said- archery

What fraction of children preferred the scramble net?

3. In26+2=13,___isthe divisor.

a)7 b) 26 c) 2 d) 13
4, 21 of 30 =

a)10  b) 30 c) 12 d) 15

5. The following pictograph shows the number of letters collected from a post box on each day of a
particular week. (Hint: Each letter symbol represents 1 letter)

41



10.

11.

12.

13.

14.

Monday M MMMMK R
Tuesday X B4 B4

Wednesday MMM

Thursday B BL BA B4

Friday MMM MMM P
Saturday |

On which day, the minimum number of letters were collected?

a) Tuesday b)Thursday c) Friday d) Saturday
To convert grams into kilograms, we divide by
a) 1000  b) 10000 c) 100 d) 10
8 km = m
a) 800 b) 80 c) 80,000 d) 8000
We use as a unit to weigh lighter objects or quantities.
a) grams  b) centimetres  c¢) millimetres d) litres
? 6= p
a) 6.60 b) 66 c) 600 d) 60

To convert rupees into paise, we divide by

a)10 b)100  c) 1000 d) 1

Data means information in the form of figures.

a) Raw b) Numerical c) Array d) None of the above

How many packets of 5 stickers give us 35 stickers?
a) 7 b) 3 c)8 d) 6

Jane reads 12 pages of a book per day. How many pages Jessica can read in 2 days?

a) 44 b) 42 c) 48 d) 24
SECTION B

Section B consists of 9 questions of 2 marks each.

205+5

42



15.

16.

17.

18.

19.

Convert 8520 m into kilometres and metres.

Add: 451 gand 340¢g

Write ¥ 25.50 in words.

Ritvi bought 3 toy car for T 115 each. He gave < 400, how much change will he get back?

Riyana baked 12 cakes for her son, Bob. He ate up 4 cakes. What fraction of cakes did Bob eat?

43



20.  Mala bought 24 rose bushes and planted them evenly in 4 rows. How many rose bushes are in
each row?

21. The given pictograph shows the number of students who were absent in a day of a particular
week. Study the pictograph and answer the following

uestions.
k Monday ©OO

Tuesday OO

Wednesday | ©©

Thursday | ©OO©©

Friday OO0

Saturday

Each © means 2 students.

On which day no student was absent?

a) Saturday b) Friday ¢) Monday d) Tuesday

22.
There are three people in a room. If they cut an apple into 3 equal pieces and take 1 piece each,
each has eaten what part of the apple?
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SECTIONC
Section C consists of 5 questions of 3 marks each.

23.
A flower has S petals

How mary petals has 3 flowers got? ______
» -

24. She counted her crayons and found out that she has 80 crayons which she will place in crayon
boxes. Every crayon box can contain 8 crayons. How many crayon boxes does she need?

Match the following.

25 3y T 420+31.20 i, 2.00
b) < 7.60 ii. 5.0
¢) ¥5.20 - 33.20 iii. 760p

26. Which one is heavier: 2345 g potatoes or 4 kg cotton?

27. Rahul has ¥ 185. He wants to buy the given Xylophone. How much more money does he need
to buy the Xylophone?

T 225

1x4=4
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SECTION D
Section D consists of 1 question of 4 marks.

28  The table below shows the fraction of stationery items kept in a bag. If there are 24 items in a

bag.
Pens 1/4
Pencils | 1/3
Eraser 1/6
Crayons [ 1/4

a) How many pencils are there?

1
b) Find 3 of 24.
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